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Part A: Answer the following Questions. e gr b
1. Define research problems. Discuss the main issues which <:§h0tti3"“6e consider by the
researcher while formulating the research problems. [3] IC.=T]

2. Write a note on project execution and data analysis [3l £

3. “Interpretation is a fundamental component of re*&ear%lll pjocess explain. Why so? [3]
[CO-5] éﬁ‘?«%;, gl

4, Explain the significance of a research repm:t and. narrate the various steps involved in
writing such a report. [4] {CO-5]

5. What are the different forms in which &: %ﬁ«:ﬁb “work may be reported? [2] [CO-5]
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Part B: Q.1 Attempt any two of folloy:'& [CO-3] 2x2=4
a) How expected value and S:taﬁda}gd Dev1at10n for a discrete Random Variable can be
calculated from its proba,,bﬂﬁwd;gé;butwﬂ
b) Write a short not on any{‘*ﬁgtfo following Central Limit Theorem, Student s ¢-distribution,
Chi-Square Distribgitign o
¢) Explain any thme of f&llgwmg terms: Research and statistical hypothesis, Null and alternate
hypothesis, Types Tand'TI errors in hypothems testing, P value and level of significance
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Q 2A myufa@ture%‘bf telev151on tubes from past experience knows that the average life of tube is
ZOOQPTIaurS with standard deviation of 200. A sample of 100 tubes has an average life of 1950.A
qﬁ&ht}g contro] official is interested to ensure that sample belong to same population. [CO-3]
"f-;, ‘~~> \’ix
«JM;at would be type of test, null and alternate hypothesis? [2]

b% .Test at 0.05 level of significance whether the sample came from the same population. And
state your inference. (Given Ztab =+_1.96 for two tail, and Ztab=+_1.645 for single tail
test) B £



